N = Ol & A

2018 204t JIEtEEAH &l (&2l &)
FZO0F- 22 - AL - S2AALS (3]H) Off &F o HE T Ol Akt HlnsS2Z ——
SEE

ES A 23,203,951 17,295,092 5,908,859 34.16%
ALY 22,627,957 16,564,860 6,063,097 36.60%
Hees 4,000 127,000 A123,0000  ~A96.85%
HE2AFZHI 571,994 603,232 N31,238 A~5.18%
HEES 17,100,721 12,252,174 4,848,547 39.57%
Aot - =2 14,740,284 10,083,709 4,656,575 46.18%
=22 H 14,740,284 9,956,709 4,783,575 48.04%
St=C2tel(=ZEIMEESESIH) 4,174,918 4,104,734 70,184 1.71%
SH e (SEMESESA) 601,592 669,751 A68,1591 A 10.18%
St ZHAE XML (=EHINEELSIAH) 6,014,000 1,807,000 4,207,000 232.82%
ASRAESTA 2Ae(EBMHLEESIIA) 149,017 92,488 56,529 61.12%
=2 (A=A SESH) 3,800,757 3,282,736 518,021 15.78%
HOI2 2,360,437 2,168,465 191,972 8.85%
Hol2 fdHel Xl 2,360,437 2,168,465 191,972 8.85%
EMHS 2 2ol (=EMESEE ) 2,360,437 2,168,465 191,972 8.85%
At2l =K 333,472 324,164 9,308 2.87%
=2 d 329,472 324,164 5,308 1.64%
NASE dgotd X3 329,472 324,164 5,308 1.64%
E=H(AESESSESIH) 329,472 324,164 5,308 1.64%
FAASKA 4,000 0 4,000 100.00%
HWeas(=adan) 4,000 0 4,000 100.00%
EESSYINENNE(IEESSESA) 4,000 0 4,000 100.00%
SHofl Lt 5,177,764 1,687,387 3,490,377 206.85%
=g -s& 5,177,764 1,687,387 3,490,377 206.85%
SHAASHUETA =4 2,012,157 1,687,387 324,770 19.25%
SELSMY FA(SHELSHEIISELS 2,012,157 1,687,387 324,770 19.25%

A)
ot 8853 3,165,607 0 3,165,607 100.00%
RS H2UL (FERHEANELELIA) 3,165,607 0 3,165,607 100.00%
SELXN IS 20,000 2,428,135 N2,408,135| A99.18%
AHA EHX 20,000 2,351,343 A2,331,343|  £99.15%
s3HA =4 & 2 20,000 2,351,343 N2,331,343| ~A99.15%
;é*%‘— SSHA = (sSXNRHNEZLEEE3H 20,000 2,351,343 A2,331,343 A99.15%
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